
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(ebZ eSx”khu tk¡p ijh{kk)
fnukad& 08-05-2022

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA 

izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	 vkijkf/d U;k; lq/kj ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1.	 blds varxZr ljdkj }kjk vkijkf/d dkuwuksa esa 
la'kks/u dh çfØ;k 'kq: dh xbZ gSA

	 2.	 bldk mís'; Hkkjrh; naM lafgrk] naM çfØ;k lafgrk 
vkSj Hkkjrh; lk{; vf/fu;e tSls vkijkf/d dkuwuksa 
esa lq/kj djuk gSA

	 3.	 uhfr vk;ksx us viuh 146oha fjiksVZ esa vkijkf/d 
dkuwuksa esa la'kks/u dh vuq'kalk dh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 	dsoy 1	 (b)	 dsoy  2
	 (c)	 dsoy 1 vkSj 2	 (c)	 1, 2 vkSj 3

	 2.	vkijkf/d U;k; (la'kks/u) vf/fu;e] 2013 ds laca/  
esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 bl vf/fu;e }kjk IPC esa dbZ egÙoiw.kZ lq/kj 
fd;s x;sA

	 2.	 bl vf/fu;e ds rgr  efgyk ds cykRdkj ds fy;s 
U;wure ltk dks 7 o"kZ ls c<+kdj 10 o"kZ dj fn;k 
x;kA

	 3.	 bl vf/fu;e dks ^fuHkZ;k vf/fu;e* Hkh dgk tkrk 
gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 	dsoy 1	 (b)	dsoy 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 3.	 Hkkjrh; naM lafgrk (IPC) ds lanHkZ esa dkSu&lk dFku lgh 
ugha gS\

	 (a)	 ^ykMZ FkkWel cfcaxVu eSdkys* dks Hkkjr esa vkijkf/d 
dkuwuksa ds lafgrkdj.k dk eq[; okLrqdkj dgk tkrk gSA 

	 (b)	 ;g lafgrk iwjs Hkkjr esa ykxw gksrh gSA 
	 (c)	 bl lafgrk ds varxZr Hkkjr ds lkFk&lkFk Hkkjr dh 

lhek ds ckgj fd;s x, vijk/ksa esa Hkh ltk nh tk 
ldrh gSA 

	 (d)	 bl lafgrk ds çko/ku Hkkjr ds ckgj fdlh Hkh LFkku 
ij fdlh Hkkjrh; ukxfjd }kjk fd;s x;s vijk/ ij 
ykxw ugha gksaxsA

	 4.	^bafM;k MkVk vfHkxE;rk ,oa mi;ksx uhfr* 2022 dh fdl 
ea=kky; }kjk tkjh fd;k x;k gS\ 

	 (a)	 lwpuk ,oa çlkj.k ea=kky; 
	 (b)	 bysDVªkWfudh vkSj lwpuk çkS|ksfxdh ea=kky;
	 (c)	 lkaf[;dh ,oa dk;ZØe fØ;kUo;u ea=kky;
	 (d)	 okf.kT; ,oa m|ksx ea=kky;

	 5.	 Hkkjrh; lafo/ku ds vuqPNsn&246 ds rgr iqfyl ,oa 
lkoZtfud O;oLFkk dks fdl vuqlwph ds varxZr 'kkfey 
fd;k x;k gS\

	 (a)	 igyh 	 (b)	pkSFkh
 	 (c)	 NBoha 	 (d)	lkroha  

	 1.	 With reference to criminal justice reform, consider 
the following statements:

	 1.		 Under this, the process of amending criminal 
laws has been started by the government.

	 2.	 It aims to reform criminal laws such as the 
Indian Penal Code, the Code of Criminal 
Procedure and the Indian Evidence Act.

	 3.	 NITI Aayog in its 146th report has recommended 
amendments in criminal laws.

		  Which of the above statement(s) is/are correct?
	 (a)	 1only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 2.	 With reference to the Criminal Justice (Amendment) 
Act, 2013, consider the following statements:

	 1.	 Many important reforms were made in the IPC 
by this act.

	 2.	 Under this act, the minimum punishment for 
rape of a woman was increased from 7 years to 
10 years.

	 3.	 This act is also known as ‘Nirbhaya Act’.

		  Which of the above statement (s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 3.	 Which statement is not correct with reference to the 
Indian Penal Code (IPC)?

	 (a)	 ‘Lord Thomas Babington Macaulay’ is said 
to be the main architect of the codification of 
criminal laws in India.

	 (b)	 This code is applicable throughout India.
	 (c)	 Punishment can be given under this code for 

offences committed in India as well as outside 
the border of India.

	 (d)	 The provisions of this Code shall not apply to 
an offence committed by an Indian citizen at 
any place outside India.

	 4.	 Which ministry has released the ‘India Data 
Accessibility and Use Policy’ for 2022?

	 (a)	 Ministry of Information and Broadcasting
	 (b)	 Ministry of Electronics and Information 

Technology
	 (c)	 Ministry of Statistics and Program 

Implementation
	 (d)	 Ministry of Commerce and Industry

	 5.	 Under which schedule the police and public order 
have been included under Article-246 of the Indian 
Constitution?

	 (a)	 First	 (b)	 Fourth
	 (c)	 Sixth	 (d)	 Seventh
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	 6.	 With reference to 'India Data Council', consider the 
following statements:

	 1.	 The framework for identification of "high-
value datasets" will be determined by the 'India 
Data Council'.

	 2.	 All ministries and departments will have 
to identify;s collect and publish high-value 
datasets.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 neither 1 nor 2

	 7.	 Which of the following is not correctly matched
      		   Article                                  subject 
      	   (a)	 14		  Equality before law and equal 

protection of law
	 (b)	 15		  Prohibition of discrimination 

on grounds of religion, race of 
origin, sex and place of birth

	  (c)	 16 		  right against exploitation
	 (d)	 17		  End of untouchability and its 

practice prohibited

	 8.	 Approach paper on the draft 'National Medical 
Devices Policy 2022' has been released by which of 
the following ministry?

	 (a)	 Finance Ministry
	 (b)	 Ministry of Heavy Industries and Public 

Enterprises
	 (c)	 Ministry of Health and Family Welfare
	 (d)	 Union Ministry of Chemicals and Fertilizers

	 9.	 With reference to medical equipment in India, 
consider the following statements:

	 1.	 Till now the medical device sector in India is 
regulated under the Drugs and Cosmetics Act, 
1940.

	 2.	 Currently, 80% of the medical devices available 
in the Indian market are manufactured in India.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 10.	 With reference to Asian Infrastructure Investment 
Bank, consider the following statements:

	 1.	 It was launched in 2016 to counter the 
Western dominance of the World Bank and the 
International Monetary Fund.

	 2.	 The bank aims to improve green infrastructure 
and economic and social outcomes in Asia with 
a focus on sustainable development.

	 3.	 India is not a member nation of this bank.

		   Which of the above statement(s) is/are not correct?
	 (a)	 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 6.	^bafM;k MkVk dkmafly* ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 ^gkbZ&oSY;w MkVklsV* dh igpku ds fy;s ÚseodZ dk 
fu/kZj.k ^bafM;k MkVk dkmafly* }kjk fd;k tk,xkA

	 2-	 lHkh ea=kky;ksa ,oa foHkkxksa dks gkbZ&oSY;w MkVklsV dh 
igpku] laxzg.k ,oa çdk'ku djuk gksxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy  2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 7.	 fuEufyf•r esa ls dkSu&lk lgh lqesfyr ugha gS%
		  vuqPNsn		  fufgr fo"k;  
	 (a)	 14	 	 fof/ ds le{k lerk ,oa 

fof/;ksa dk lkeku laj{k.k 
	 (b)	 15	 	/eZ] ewy oa'k] fyax vkSj tUe 

LFkku ds vk/kj ij foHksn dk 
çfr"ks/ 

	 (c)	 16		  'kks"k.k ds fo#¼ vf/dkj 
	 (d)	 17               vLi`';rk dk var vkSj mldk 

vkpj.k fuf"k¼ djuk  

	 8.	 fuEufyf•r esa ls fdl ea=kky; }kjk ^jk"Vªh; fpfdRlk 
midj.k uhfr 2022* ds elkSns ij n`f"Vdks.k i=k tkjh 
fd;k x;k gS\  

	 (a)	 foÙk ea=kky;
	 (b)	 Hkkjh m|ksx ,oa lkoZtfud m|e ea=kky;
	 (c)	 LokLF; ,oa ifjokj dY;k.k ea=kky;
	 (d)	 dsaæh; jlk;u vkSj moZjd ea=kky;

	 9.	 Hkkjr esa fpfdRlk midj.k ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1.	 vc rd Hkkjr esa fpfdRlk midj.k {ks=k dks vkS"kf/ 
vkSj çlk/u lkexzh vf/fu;e] 1940 ds rgr 
fofu;fer fd;k tkrk gSA

	 2.	 orZeku esa Hkkjrh; cktkj esa miyC/ 80% fpfdRlk 
midj.kksa dk fuekZ.k Hkkjr esa gh fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy  2
	 (c)	 1vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 10.	^,f'k;u bUÚkLVªDpj bUosLVesaV cSad* ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 bldh 'kq#vkr o"kZ 2016 esa fo'o cSad (WB) vkSj 
varjkZ"Vªh; eqæk dks"k (IMF) ds if'peh çHkqRo dk 
eqdkcyk djus ds fy;s dh xbZ  FkhA

	 2.	 bl cSad dk mís'; lrr fodkl dks dsaæ esa j•rs 
gq, ,f'k;k esa gfjr volajpukvksa ,oa vkfFkZd vkSj 
lkekftd ifj.kkeksa esa lq/kj djuk gSA

	 3.	 Hkkjr bl cSad dk lnL; jk"Vª ugha gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 2	 (b)	dsoy 3
	 (c)	 dsoy 1vkSj 3 	 (d)	1, 2 vkSj 3
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	 11.	 With reference to India-Oman cooperation, consider 
the following statements:

	 1.	 A program of cooperation in the field of science 
and technology has been signed between India 
and Oman for the period 2022-2025.

	 2.	 Topics like marine pollution and environmental 
protection have also been included in this 
cooperation program for the period 2022-2025.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 12.	 With reference to the International Telecommunication 
Union (ITU), consider the following statements:

	 1.	 The agreement was signed by the Union 
Minister of Communications in India and 
the Secretary General of the International 
Telecommunication Union for the 
establishment of ITU's Regional Office and 
Innovation Center in New Delhi.

	 2.	 ITU is a specialized agency of the World 
Economic Forum (WEF).

	 3.	 This Agreement provides the legal and financial 
framework for the establishment and operation 
of the Regional Office.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 13.	 With reference to the 'Bangladesh-Bhutan-India-
Nepal' (BBIN) Motor Vehicle Agreement, consider 
the following statements:

	 1.	 Recently, it has been finalized through a 
Memorandum of Understanding (MoU).

	 2.	 The project was envisaged under the 
BIMSTEC (Bay of Bengal Initiative for Multi-
Sectoral Technical and Economic Cooperation) 
grouping.

	 3.	 Provision has been made for regulation of 
cargo vehicles only under this agreement.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 2 and 3 only

	 14.	 With reference to the India-Japan summit, consider 
the following statements:

	 1.	 Recently, the 14th India-Japan Summit was 
organized during the visit of the Prime Minister 
of Japan to India.

	 2.	 Japan will invest Rs 3.2 lakh crores in India in 
the next five years.

	 3.	 Leaders of Both the countries expressed 
commitment to promote peace, security and 
prosperity in the Indo-Pacific region.

	 11.	  Hkkjr vkseku lg;ksx ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1.	 Hkkjr vkSj vkseku ds chp 2022&2025 dh vof/ 
ds fy;s foKku ,oa çkS|ksfxdh ds {ks=k ls tqM+s ,d 
lg;ksx dk;ZØe ij gLrk{kj fd;s x, gSa A

	 2.	 2022&2025 dh vof/ ds fy;s bl lg;ksx 
dk;ZØe esa leqæh çnw"k.k ,oa i;kZoj.k laj{k.k tSls 
fo"k; Hkh 'kkfey fd;s x, gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy  2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 12.	 varjkZ"Vªh; nwjlapkj la?k (International Telecommunication 
Union-ITU) ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1.	 Hkkjr esa dsaæh; lapkj ea=kh vkSj varjkZ"Vªh; nwjlapkj 
la?k ds egklfpo }kjk ubZ fnYyh esa ITU ds {ks=kh; 
dk;kZy; vkSj uokpkj dsaæ dh LFkkiuk ds fy;s  
le>kSrs ij gLrk{kj fd;s x,A

	 2.	 ITU ^fo'o vFkZO;oLFkk eap* (WEF) dh fo'ks"k 
,tsalh gSA

	 3.	 ;g le>kSrk {ks=kh; dk;kZy; dh LFkkiuk vkSj 
lapkyu gsrq dkuwuh ,oa foÙkh; <k¡pk çnku djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3

	 13.	 ^ckaXykns'k&HkwVku&Hkkjr&usiky* (BBIN) eksVj okgu 
le>kSrs ds laca/ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 gky gh esa ,d le>kSrk Kkiu (MoU) ds ekè;e 
ls bls vafre :i fn;k x;k gSA

	 2.	 bl ifj;kstuk dh ifjdYiuk fcElVsd (caxky dh 
•kM+h cgq&{ks=kh; rduhdh vkSj vkfFkZd lg;ksx 
igy) lewg ds rgr dh xbZ FkhA 

	 3.	 bl le>kSrs ds varxZr dsoy dkxkZs okguksa ds 
fofu;eu dk çko/ku fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 3 	 (d)	 dsoy 2 vkSj 3

	 14.	 Hkkjr&tkiku f'k•j lEesyu ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1.	 gky gh esa tkiku ds ç/kuea=kh dh Hkkjr ;k=kk ds 
nkSjku 14osa Hkkjr&tkiku f'k•j lEeysu dk vk;kstu 
fd;k x;kA

	 2.	 tkiku }kjk Hkkjr esa vxys ika¡p o"kks± esa 3.2 yk• 
djksM+ #i;s dk fuos'k fd;k tk,xkA

	 3.	 nksuksa ns'kksa ds usrkvksa us fgan&ç'kkar {ks=k esa 'kkafr] 
lqj{kk vkSj le`f¼ dks c<+kok nsus ds fy;s çfrc¼rk 
O;Dr dhA
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		  Which of the above statement(s) is/are not correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 15.	 Which of the following option is not correct?
	 (a)	 Ukraine is a country in Northern Europe that 

shares borders with Russia to the northeast, 
east and southeast.

	 (b)	 To the west and north Ukraine shares borders 
with Poland and Belarus respectively.

	 (c)	 Ukraine shares its border with the Black Sea to 
the south.

	 (d)	 Ukraine is the second largest country in the 
European continent in terms of area after 
Russia.

	 16.	 With reference to the International Court of Justice 
(ICJ), consider the following statements:

	 1.	 It is the main judicial organ of the United 
Nations (UN).

	 2.	   It is a successor to the Permanent Court of 
International Justice (PCIJ).

	 3.	 It has a well defined method to ensure 
compliance with its orders.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only  	 (b)	  2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 17.	 With reference to the Geneva Convention, consider 
the following statements:

	 1.	 This Convention (1949) and its other protocols 
are those international treaties that contain the 
most important rules limiting the barbarism of 
war.

	 2.	 The first Geneva Convention provides 
protection to the wounded and sick soldiers 
during the war.

	 3.	 The Second Geneva Convention provides 
protection to citizens including occupied 
territories.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 only	 (d)	 1, 2 and 3

	 18.	 Which statement is/are correct regarding the 'PM 
Cares Scheme for Children'?

	 1.	 The scheme was launched with an aim to 
assist children who lost their parents or 
legal guardian/adoptive parents during the 
COVID-19 pandemic.

	 2.	 All such children will be enrolled as a 
beneficiary under the Ayushman Bharat 
scheme, which will include a health insurance 
cover of up to Rs.5 lakh.

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy  3	 (d)	 1, 2 vkSj 3

	 15.	fuEufyf•r  esa ls dkSu&lk fodYi lgh ugha gS\

	 (a)	 ;wØsu mÙkjh ;wjksi dk ,d ns'k gS tks mÙkj&iwoZ] iwoZ 
rFkk nf{k.k iwoZ&esa :l ls lhek lk>k djrk gSA

	 (b)	 if'pe o mÙkj esa ;wØsu Øe'k% iksySaM o csyk:l 
ls lhek lk>k djrk gSA

	 (c)	 ;wØsu nf{k.k esa dkyk lkxj ls viuh lhek lk>k 
djrk gSA

	 (d)	 ;wØsu ;wjksih; egk}hi esa {ks=kiQy dh n`f"V ls :l 
ds ckn nwljk lcls cM+k ns'k gSA

	 16.	varjkZ"Vªh; U;k;ky; (International Court of Justice-ICJ) 
ds laca/ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 ;g la;qDr jk"Vª (UN) dk çeq• U;kf;d vax gSA
	 2.	  ;g varjkZ"Vªh; U;k; ds LFkk;h U;k;ky; (PCIJ) 

dk ,d mÙkjkf/dkjh gSA
	 3.	 blds ikl vius vkns'kksa dk vuqikyu lqfuf'pr 

djus ds fy;s ,d lqifjHkkf"kr fof/ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2 	 (d)	 1, 2 vkSj 3

	 17.	 ftusok dUosa'ku ds laca/ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g dUosa'ku (1949) rFkk blds vU; çksVksdkWy 
os varjkZ"Vªh; laf/;k¡ gS ftlesa ;q¼ dh ccZjrk dks 
lhfer djus okys lcls egÙoiw.kZ fu;e 'kkfey gSaA

	 2-	 igyk ftusok dUosa'ku] ;q¼ ds nkSjku ?kk;y ,oa 
chekj lSfudksa dks lqj{kk çnku djrk gSA

	 3.	 nwljk ftusok dUosa'ku] dCts okys {ks=k lfgr 
ukxfjdksa dks laj{k.k çnku djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3

	 18.	 ^ih,e ds;lZ Ldhe iQkWj fpYMªu* ds laca/ esa dkSu&lk@
ls lgh gS@gSa\ 

	 1.	 ;g ;kstuk mu cPpksa dh lgk;rk djus ds mís'; 
ls 'kq: dh xbZ Fkh] ftUgksaus dksfoM&19 egkekjh ds 
nkSjku vius ekrk&firk ;k dkuwuh vfHkHkkod@nÙkd 
ekrk&firk dks •ks fn;k FkkA

	  2.	 vk;q"eku Hkkjr ;kstuk ds rgr ,sls lHkh cPpksa 
dks ,d ykHkkFkhZ ds :i esa ukekafdr fd;k tk,xk] 
ftlesa 5 yk• #i;s rd dk LokLF; chek doj 
'kkfey gksxkA 
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	 3.	 The scheme covers only children who have lost 
their parents or legal guardian/adoptive parents 
during the COVID-19 pandemic till May 29, 
2021.

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 19.	 With reference to the 'Women's Manoraksha 

Project', consider the following statements:
	 1.	 This project has been started by the Ministry of 

Health and Family Welfare in association with 
NIMHANS Bangalore.

	 2.	   It aims to improve the mental health of women 
across India.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1  Only	 (b)	 2 only 
	 (c)	 Both1 and 2	 (d)	 Neither 1 nor 2

	 20.	 Consider the following statements:
	 1.	 Recently, the Chandigarh Municipal 

Corporation has approved the proposal to 
amend Article 80 of the Constitution.

	 2.	 Article 80 of the Constitution of India deals 
with the composition of the Council of States 
called the Upper House (Rajya Sabha).

	 3.	 Chandigarh is a union territory with a 
Legislative Assembly that does not have a 
single Member of Parliament (MP) seat in the 
lower house or Lok Sabha.

		  Which of the above statement(s) is/are correct?
          (a)		 1 only	 (b)	 1 and 2 only
	 (c) 	 1 and 3 only	 (c)	 1, 2 and 3

	 21.	 Six pillars on which India's new Arctic policy rests, 
not include

	 (a)	 Science and Research
	 (b)	 Economic and Human Development
	 (c)	 Governance and International Cooperation
	 (d)	 Watershed and ozone protection

	 22.	 Which of the following statements is false?
	 (a)	 In 1920, India signed the Treaty of Svalbard in 

Paris. 
	 (b)	 India has been an Observer Nation in the Arctic 

Council since 2013.
	 (c)	 The Arctic is a polar region located in the 

southernmost part of the Earth.
	 (d)	 India has been able to set up an observatory 

at Congsfjordan as well as an atmospheric 
laboratory at Gruewebdet.

	 23.	 Which country does not come under Arctic?
	 (a)	 Finland	 (b)	 Iceland
	 (c)	 Sweden	 (d)	 Poland

	 3.	 ;g  ;kstuk fliQZ 29 ebZ] 2021 rd dksfoM&19 
egkekjh ds nkSjku vius ekrk&firk ;k dkuwuh 
vfHkHkkod@nÙkd ekrk&firk dks •ksus okys cPpksa 
dks gh 'kkfey djrh gSA

	 (a)	 dsoy 1	 (b)	dsoy 1vkSj 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 19.	 ^L=kh euksj{kk ifj;kstuk* ds laca/ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1.	 LokLF; ,oa ifjokj dY;k.k ea=kky; }kjk] fuegkal 
(NIMHANS) caxyw: ds lg;ksx ls ;g ifj;kstuk 
'kq: dh xbZ gSA

	 2.	 bldk mís'; laiw.kZ Hkkjr esa efgykvksa ds ekufld 
LokLF; esa lq/kj djuk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy  2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 20.	 fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1.	 gky gh esa paMhx<+ uxj fuxe us lafo/ku ds 

vuqPNsn 80 esa la'kks/u ds çLrko dks eatwjh nh gSA
	 2.	 Hkkjr ds lafo/ku dk vuqPNsn 80 jkT;ksa dh ifj"kn 

dh lajpuk ls lacaf/r gS ftls mPp lnu (jkT; 
lHkk) dgk tkrk gSA

	 3.	 paMhx<+ fo/kulHkk okyk ,d dsaæ'kkflr çns'k gS] 
ftldh fuEu lnu ;k yksdlHkk esa laln lnL; 
(MP) dh ,d Hkh lhV ugha gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 21.	 Hkkjr dh ubZ vkdZfVd uhfr ftu 6 LraHkksa ij fVdh gS] 
muesa 'kkfey ugha gS&

	 (a)	 foKku ,oa vuqla/ku
	 (b)	 vkfFkZd ,oa ekuo fodkl
	 (c)	 'kklu ,oa varjkZ"Vªh; lg;ksx
	 (d)	 tylaHkj.k vkSj vkstksu laj{k.k

	 22.	 fuEu esa ls dkSu&lk dFku vlR; gS\
	 (a)	 1920 esa Hkkjr us isfjl esa LokyckMZ laf/ ij 

gLrk{kj fd;kA
	 (b)	 Hkkjr o"kZ 2013 ls vkdZfVd ifj"kn esa ,d i;Zos{kd 

jk"Vª gSA
	 (c)	 vkdZfVd i`Foh ds lcls nf{k.kh Hkkx esa fLFkr ,d 

/zqoh; {ks=k gSA
	 (d)	 Hkkjr dkasXLiQtkMZu esa ,d os/'kkyk ds lkFk&lkFk 

xzqoscMsV esa ,d ok;qeaMyh; iz;ksx'kkyk LFkkfir djus 
esa l{ke jgk gSA

	 23.	 vkdZfVd ds varxZr dkSu&lk ns'k ugha vkrk gS\
	 (a)	 fiQuySaM	 (b)	 vkblySaM
	 (c)	 LohMu	 (d)	 iksySaM
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	 24.	 DokaVe dh fMfLVªC;w'ku fyad dk liQyrkiwoZd izn'kZu 
MhvkjMhvks vkSj vkbZvkbZVh] fnYyh ds oSKkfudksa us fuEu 
fdl LFky esa fd;k gS\

	 (a)	 fnYyh&vjkoyh
	 (b)	 ç;kxjkt&foaè;kpy
	 (c)	 psUubZ&uhyfxfj
	 (d)	 iq.ks&if'peh ?kkV

	 25.	 ,fMfVo eSU;qiSQDpfjax fMftVy eSU;qiSQDpfjax dh vxyh 
ih<+h gS tks fuEu {ks=kksa ds baVlsZD'ku dh vuqefr nsrh gS&

	 1-	 daI;wfVax bysDVªkWfuDl
	 2-	 besftax
	 3-	 vkfVZfiQf'k;y baVsfytsal
	 4-	 iSVuZ fjdfXu'ku

	 	mi;qZDr esa ls dkSu&ls lgh gSa&

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	 dsoy 2, 3 vkSj 4
	 (c)	 dsoy 1, 3 vkSj 4	 (d)	 mi;qZDr lHkh

	 26.	 lkbM pSuy vVSDl (SCAs) ls lacaf/r fuEu dFkuksa esa 
ls dkSu&lk dFku vlR; gS\

	 (a)	 lkbM pSuy vVSDl dk iz;ksx fØIVksxzkiQh esa fd;k 
tkrk gSA

	 (b)	 bUgsa lkbMckj vVSd ;k bEIyhesaVs'ku vVSd ds :i 
esa Hkh tkuk tkrk gSA

	 (c)	 bls ,sls fdlh Hkh MsVk ij ykxw fd;k tk ldrk gS 
ftls ;wtj xqIr j[kuk pkgrk gSA

	 (d)	 vf/dka'k vk/qfud iz.kkfy;ksa ij SCAs dks fu"ikfnr 
djuk vklku gSA

	 27.	 fuEu dFkuksa ij fopkj dhft;s&

	 1-	 yks ,uthZ fpi dk vkdkj ,d Fkacusy ds vkdkj 
ls Hkh NksVk gSA

	 2-	 yks ,uthZ fpi dsoy fo|qr&pqacdh; SCAs ds 
f[kykiQ cpko djrk gSA

	 	mijksDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 u gh 2

	 28.	 Vsªu dksfytu ,okWbMsal flLVe&dop ls lacaf/r fuEu 
dFkuksa esa ls vlR; dFku pqusa&

	 (a)	 dop Hkkjr dh Lons'kh] Lopkfyr lqj{kk iz.kkyh gSA
	 (b)	 ;g bysDVªkWfud vkSj jsfM;ks izQhDosalh vkbMsaVhfiQds'ku 

(RFID) midj.kksa dk ,d lsV gS tks yksdkseksfVo 
rFkk flXufyax flLVe ds lkFk&lkFk Vsªu dh iVfj;ksa 
ij Hkh LFkkfir gksrk gSA

	 (c)	 bl iz.kkyh dks lapkfyr djus esa ` 50]000 izfr 
fdyksehVj dh ykxr vk;sxhA

	 (d)	 blesa Hkfo"; esa gkbZ Vsd ;wjksih; Vsªu daVªksy flLVe 
ysoy&2 tSlh fo'ks"krk,¡ Hkh gksaxhA

	 24.	 Quantum Key Distribution Link has been successfully 
demonstrated by scientists from DRDO and IIT, Delhi 
at which of the following sites?

	 (a)	 Delhi – Aravalli
	 (c)	 Chennai – Nilgiris
	 (b)	 Prayagraj – Vindhyachal
	 (d)	 Pune – Western Ghats

	 25.	 Additive Manufacturing is the next generation of 
digital manufacturing that allows for the intersection 
of the following areas

	 1.	 Computing Electronics
	 2.	 Imaging
	 3.	 Artificial Intelligence
	 4.	 Pattern Recognition

		  which of the above are correct
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 3 and 4 only	 (d)	 All of the above

	 26.	 Which of the following statements regarding Side 
Channel Attacks (SCAs) is false?

	 (a)	 Side channel attacks are used in cryptography.
	 (b)	 These are also known as sidebar attacks or 

implementation attacks.
	 (c)	 It can be applied to any data that the User 

wishes to keep confidential.
	 (d)	 It is easy to execute SCAs on most modern 

systems.

	 27.	 Consider the following statements
	 1.	 Size of Low Energy Chip is small than a 

Thumbnail.
	 2.	 Low Energy Chip defends against only 

Electromagnetic SCAs.

		   Which of the above statements is/are correct?
	 (a)	 only 1	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 28.	 With reference to Train Collision Avoidance System-
KAVACH, choose the false statement from the 
following statements-

	 (a)	 Kavach is India's indigenous, automated 
security system.

 	 (b)	 It is a set of Electronic and Radio Frequency 
Identification (RFID) devices that are used to 
track locomotives and signaling systems as 
well as also installed on train tracks.

	 (c)	 It will cost ₹ 50,000 per kilometer to operate 
this system.

	 (d)	 It will also have features like High Tech 
European Train Control System Level-2 in 
future.
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	 29.	 bljks ds vuqlkj fuEu esa ls fdlus panzek ds cfge±My 
esa vkWxZu&40 ds oSf'od forj.k dk vc rd dk igyk 
voyksdu fd;k gS\

	 (a)	 MK-III	 (b)	 CHACE-II
	 (c)	 panz;ku&III	 (d)	 panz;ku&II

	 30.	 ukscy xSl esa 'kkfey ugha gS&
	 (a)	 ghfy;e	 (b)	 gkbMªkstu
	 (c)	 vkxZu	 (d)	 vksxuslu

	 31.	 jk"Vªh; lqjidaI;wfVax fe'ku us 1-66 isVkÝykWIl dh lqij 
daI;wfVax {kerk ds lkFk ,d lqij daI;wVj ^ije xaxk* dh 
LFkkiuk fuEu esa ls fdl LFkku ij dh gS\

	 (a)	 IIT [kM+xiqj	 (b)	 IIT fnYyh
	 (c)	 IIT #M+dh	 (d)	 IIT dkuiqj

	 32.	 Hkkjrh; 'kks/dÙkkZvksa us dkWfLed MkWu (czãkaM dk mn~Hko) 
ls ,d jsfM;ks flXuy dh [kkst ds nkos dk fu.kkZ;d 	
:i ls [kaMu djus ds fy;s fdl VsyhLdksi dk iz;ksx 
fd;k gS\

	 (a)	 ,LVªks lSV	
	 (b)	 bafM;u ,LVªksuksfedy vkWCtjosVjh
	 (c)	 lkjl 3 jsfM;ks VsfyLdksi
	 (d)	 mijksDr dksbZ ugha

	 33.	 fuEu esa ls dkSu FkeksZcsfjd gfFk;kj ugha gS\
	 (a)	 DyLVj ce	 (b)	 oSD;we gfFk;kj
	 (c)	 ,jkslky ce	 (d)	 ba/u&ok;q foLiQksVd

	 34.	 fuEu esa ls dkSu lqesfyr ugha gS\
	 (a)	 galk&,uth	 %	Ýykbax Vsªuj
	 (b)	 ,,u& 225 efj;k	 %	ekyokgd foeku
	 (c)	 lkjl&3	 %	jsfM;ks VsyhLdksi
	 (d)	 C-Dac	 %	lqij daI;wVj

	 35.	 WHO Xykscy lsaVj iQkWj VsªfM'kuy esfMflu dh LFkkiuk 
fdl 'kgj esa djus ds fy;s dsanzh; eaf=keaMy us eatwjh 
fn;k gS\

	 (a)	 xka/h uxj	 (b)	 tke uxj
	 (c)	 nsgjknwu	 (d)	 okih

	 36.	 baVjusV vkWiQ fFkaXl ls lacaf/r fuEu dFkuksa ij fopkj 
dhft;s&

	 1-	 ;g ok;jysl usVodZ ds ekè;e ls fMftVy 
midj.kksa] yksxksa] e'khuksa] midj.kksa vkSj vU; oLrqvksa 
dks ,d&nwljs ls dusDV djrk gSA

	 2-	 ;g e'khuksa vkSj yksxksa dks ,d nwljs ls tqM+us vkSj 
laokn djus esa l{ke cukrk gSA

	 	mijksDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 u gh 2

	 29.	 According to ISRO, who among the following has 
made the first ever observation of the global 
distribution of Organ-40 in the exosphere of the 
Moon?

	 (a)	 MK-III	 (b)	 CHACE-II
	 (c)	 Chandrayaan-III	 (d)	 Chandrayaan-II

	 30.	 Noble gas does not include
	 (a)	 Helium	 (b)	 Hydrogen
	 (c)	 Argon	 (d)	 Oganesson

	 31.	 The National Supercomputing Mission has established 
a supercomputer ‘Param Ganga’ with a super 
computing capacity of 1.66 petaflops at which of the 
following place?

	 (a)	 IIT Kharagpur	 (b)	 IIT Delhi
	 (c)	 IIT Roorkee	 (d)	 IIT Kanpur

	 32.	 Which telescope has been used by Indian researchers 
to conclusively refute the claim of discovery of a 
radio signal from Cosmic Dawn?

	 (a)	 Astro sat
	 (b)	 Indian Astronomical Observatory
	 (c)	 Saras 3 radio telescope
 	 (d)	 None of the above

	 33.	 Which of the following is not a thermobaric weapon?
	 (a)	 Cluster Bomb	 (b)	 Vacuum weapons
	 (c)	 aerosol bomb	 (d)	 fuel-air explosive

	 34.	 Which of the following is not correctly matched?
	 (a)	 Hansa-NG : Flying Trainer
	 (b)	 AN- 225 Maria : Cargo Plane
	 (c)	 Saras-3 : Radio Telescope
	 (d)	 C-Dac : Super Computer

	 35.	 In which city the Union Cabinet has approved the 
establishment of WHO Global Center for Traditional 
Medicine?

	 (a)	 Gandhi Nagar	 (b)	 Jam Nagar
	 (c)	 Dehradun	 (d)	 Vapi

	 36.	 With reference to the Internet of Things, consider the 
following statements

	 1.	 It connects digital devices, people, machines 
and other objects to each other through a 
wireless network.

	 2.	 It enables machines and people to connect and 
communicate with each other.

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	 37.	 jsfM;ks izQhDosalh vkbMsafVfiQds'ku ls lacaf/r fuEu dFkuksa 
esa ls vlR; dFku pqusa&

	 (a)	 ;g ,d ok;jysl iz.kkyh gSA
	 (b)	 blds nks ?kVd gSa& VSx vkSj jhMj
	 (c)	 VSx] lwpuk dks vkl&ikl ds jhMlZ rd igq¡pkus ds 

fy;s jsfM;ks rjaxksa dk mi;ksx djrs gSaA
	 (d)	 RFID VSx ges'kk lfØ; jgrs gSaA

	 38.	 Hkkjrh; jsyos ls lacaf/r lfefr;ksa esa ls fdldk lqesyu 
lgh ugha gS\

	 (a)	 izdk'k VaMu lfefr	 %	jsyos ds izn'kZu dk 
	 	 		 	lw{e fo'ys"k.k gsrq
	 (b)	 vfuy dkdksndj lfefr	%	jsyos lqj{kk leh{kk gsrq
	 (c)	 lSe fi=kksnk lfefr	 %	jsyos ds vkèkqfudhdj.k 
	 	 		 	gsrq
	 (d)	 fccsd nscjkW; lfefr	 %	jsyos ds futhdj.k gsrq

	 39.	 ISRO dk eq[;ky; dgk¡ fLFkr gS\

	 (a)	 fnYyh	 (b)	 caxyw:
	 (c)	 fr#ouariqje	 (d)	 psUubZ

	 40.	 panzek ij ty dh mifLFkfr dk irk fuEu esa ls fdlus 
yxk;k Fkk\

	 (a)	 panz;ku&I	 (b)	 panz;ku&II
	 (c)	 panz;ku&III	 (d)	 mijksDr dksbZ ugha

	 41-	ldy ewY;oèkZu (GVA) ds lacaèk esa fuEufyf•r dFkuksa 
ij fopkj dhft;s&

	 1-	 GVA fdlh ns'k dh vFkZO;oLFkk ds lHkh {ks=kksa ds 
vafre ldy oLrqvksa vkSj lsokvksa ds mRiknu dk 
dqy ekSfæd ewY; gSA

	 2-	 GVA dh x.kuk esa mRikn ij lfClMh vkSj dj dks 
tksM+k tkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 	 (d)	 u rks 1 vkSj u gh 2 

	 42-	gky gh esa çdkf'kr fjiksVZ ̂ Hkkjr dh vFkZO;oLFkk ds fy;s 
ekbØksiQkbusal dk orZeku ,oa laHkkfor ;ksxnku* fdlus 
rS;kj fd;k gS\

	 1-	 ekbØksiQkbusal baLVhVÔw'ku usVodZ 
	 2-	 fjtoZ cSad vkWiQ bafM;k 
	 3-	 uhfr vk;ksx 
	 4-	 us'kuy dkmafly vkWiQ ,IykbM bdksukWfed fjlpZ

	 	uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA

	 (a)	 dsoy 1, 2 vkSj 3
	 (b)	 dsoy 2, 3 vkSj 4 
	 (c)	 dsoy 1 vkSj 4 
	 (d)	 1, 2, 3 vkSj 4 

	 37.	 Choose the false statement from the following 
statements regarding Radio Frequency Identification

	 (a)	 It is a wireless system.
	 (b)	 It has two components- tag and reader.
	 (c)	 Tags to convey information to nearby readers 

by using Radio waves.
	 (d)	 RFID tags are always active.

	 38.	 Which one of the following committees related to 
Indian Railways is not correctly matched?

	 (a)	 Prakash Tandon	 :	 For micro analysis 
Committee 		  of Railway performance

	 (b)	 Anil Kakodkar	 :	 For Railway Safety 
Committee 		  Review 

	 (c)	 Sam Pitroda	 :	 For Modernization of 
Committee 		  Railways

	 (d)	 Bibek Debroy	 :	 For Privatization of 
Committee 		  Railways

	 39.	 Where is the headquarter of ISRO located?
	 (a)	 Delhi	 (b)	 Bangalore
	 (c)	 Thiruvananthapuram	(d)	 Chennai

	 40.	 Who among the following discovered the presence 
of water on the Moon?

	 (a)	 Chandrayaan-I	 (b)	 Chandrayaan-II
	 (c)	 Chandrayaan-III	 (d)	 None of the above

	 41.	 With reference to Gross Value Added (GVA), consider 
the following statements:

	 1.	 GVA is the total monetary value of the final 
aggregate goods and services produced by all 
sectors of a country's economy.

	 2.	 The subsidy and tax on the product are added 
in the calculation of GVA.

		  Which of the above statements is/are correct?
	 (a)	 1 only 	 (b)	 2 only 
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 42.	 Who has prepared the recently published report 
'Current and Potential Contribution of Microfinance 
to India's Economy'?

	 1.	 Microfinance Institution Network
	 2.	 Reserve Bank of India
	 3.	 NITI Aayog
	 4.	 National Council of Applied Economic 

Research

		  Select the correct answer using the code given below.
 	 (a)	 1, 2 and 3 only
	 (b)	 2, 3 and 4 only
	 (c)	 1 and 4 only
	 (d)	 1, 2, 3 and 4
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	 43-	gky esa çdkf'kr fjiksVZ ^Hkkjr dh vFkZO;oLFkk ds fy;s 
ekbØksiQkbusal dk orZeku ,oa laHkkfor ;ksxnku* ds lanHkZ 
esa] fuEufyf•r dFkuksa ij fopkj dhft;s& 

	 1-	 ekbØksiQkbusal {ks=k us o"kZ 2018-19 esa Hkkjr ds 
GVA esa yxHkx 5 çfr'kr dk ;ksxnku fn;k gSA

	 2-	 Hkkjrh; vFkZO;oLFkk ds ldy ewY;oèkZu (GVA) ij 
ekbØksiQkbusal {ks=k dk çHkko o"kZ 2025-26 rd 2.7 
çfr'kr ls 3.5 çfr'kr ds chp gksus dh mEehn gSA  

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	 44-	Hkkjrh; y?kq m|ksx fodkl cSad (flMch) vkSj bfDoiQSDl 
bafM;k (Equifax India) }kjk tkjh 11osa laLdj.k 
^ekbØksiQkbusal Iyl* ds lanHkZ esa] fuEufyf•r dFkuksa ij 
fopkj dhft;s&

	 1-	 mÙkj çns'k ns'k esa ekbØksiQkbusal laLFkku ls mèkkj 
ysus esa lcls Åij gSA 

	 2-	 rfeyukMq dk yxHkx cdk;k ½.k iksVZiQksfy;ks Hkkjr 
ds ekbØksiQkbusal {ks=k ds varxZr dqy mèkkj dk 13 
çfr'kr gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	 45-	^CySd Loku bosaV* ds lanHkZ esa] fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g ,d vçR;kf'kr ?kVuk gSA 
	 2-	 CySd Loku ?kVuk gksus ds ckn vuqeku yxk;k tkrk 

gS fd ;s iwokZuqes; Fkh vkSj os rS;kj D;ksa ugha FksA 
	 3-	 dksfoM&19 egkekjh CySd Loku bosaV dk mnkgj.k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2 	 (b)	 dsoy 2 vkSj 3 
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3 

	 46-	fuEufyf•r dFkuksa ij fopkj dhft;s&

	 	cSadksa ds iquiw±thdj.k dh vko';drk blfy;s gksrh gS 
D;ksafd& 

	 1-	 csly ekunaM dks iwjk djus ds fy;s
	 2-	 cSad dks Mwcus ls cpkus ds fy;s 
	 3-	 xSj&fu"ikfnr ifjlaifÙk;ksa (NPA) dh leL;k ls 

fuiVus ds fy;s 
	 4-	 iwath dh deh ls fuiVus ds fy;s

	 	uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA

	 (a)	 dsoy 1, 2 vkSj 3
	 (b)	 dsoy 2, 3 vkSj 4 
	 (c)	 dsoy 1 vkSj 4
	 (d)	 1, 2, 3 vkSj 4

	 43.	 With reference to the recently published report 
'Current and Potential Contribution of Microfinance 
to India's Economy', consider the following 
statements–

	 1.	 The microfinance sector contributed about 5 
percent to India's GVA in the year 2018-19.

	 2.	 The impact of the microfinance sector on 
the Gross Value Added (GVA) of the Indian 
economy is expected to be in the range of 2.7 
percent to 3.5 per cent by 2025-26.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 only 
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 44.	 With reference to the 11th edition ‘Microfinance Plus’ 
released by Small Industries Development Bank of 
India (SIDBI) and Equifax India, consider the 
following statements-

	 1.	 Uttar Pradesh is at the top in borrowing from 
microfinance institution in the country.

	 2.	 Outstanding loan portfolio accounts of Tamil 
Nadu is 13 per cent of the total lending under 
India's microfinance sector.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 45.	 With reference to the ‘Black Swan Event’, consider 
the following statements :

	 1.	 This is an unexpected event.
	 2.	 After the Black Swan event, it is speculated 

that it was predictable and why they were not 
prepared.

	 3.	 The COVID-19 pandemic is an example of the 
Black Swan event.

		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 46.	 Consider the following statements–

		  The need for recapitalization of banks is because–
	 1.	 To comply with Basel norms
	 2.	 To save the bank from sinking
	 3.	 To tackle the problem of Non-Performing 

Assets (NPA)
	 4.	 To deal with the lack of capital

		  Select the correct answer using the code given below.
	 (a)	 1, 2 and 3 only
	 (b)	 2, 3 and 4 only
	 (c)	 1 and 4 only
	 (d)	 1, 2, 3 and 4
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	 47-	vkfFkZd loZs{k.k 2021-22 ds vuqlkj lkekftd lsokvksa 
esa 'kkfey gS%

	 1-	 dyk vkSj laLÑfr
	 2-	 'kgjh fodkl 
	 3-	 Hkkjh m|ksxksa dk fodkl 
	 4-	 çkÑfrd vkink ds le; jkgr dk;Z
	 5-	 •sy 

	 	uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA
	 (a)	 dsoy 1, 2, 4 vkSj 5 	 (b)	 dsoy 2, 3 vkSj 5 
	 (c)	 dsoy 1, 3 vkSj 4 	 (d)	 1, 2, 3, 4 vkSj 5 

	 48-	,dhÑr ikSèk iks"k.k çcaèku foèks;d] 2022 ds lanHkZ esa] 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 blds varxZr Hkkjrh; ,dhÑr ikni iks"k.k çcaèku 
çkfèkdj.k ds xBu dk çkoèkku fd;k x;k gSA 

	 2-	 bldk mís'; moZjdksa ds fodkl vkSj lrr~ mi;ksx 
dks c<+kok nsukA 

	 3-	 dksbZ Hkh O;fDr fcuk iathdj.k fd;s fuekZ.k] fcØh] 
fcØh ds fy;s moZjd vk;kr dj ldrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 	 (b)	 1 vkSj 2 
	 (c)	 dsoy 3 	 (d)	 2 vkSj 3 

	 49-	^vkS"kèk m|ksx dks etcwr djus (strengthening of 
pharmaceutical Industry-SPI)* dh ;kstuk ds lanHkZ esa] 
fuEufyf•r esa ls dkSu&ls ?kVd 'kkfey gSa\

	 1-	 vkS"kèk çkS|ksfxdh mUu;u lgk;rk ;kstuk 
	 2-	 vkS"kèk vkSj fpfdRlk midj.k lao¼Zu ,oa fodkl 

;kstuk
	 3-	 lkekU; lqfoèkkvksa ds fy;s iQkekZL;wfVdy m|ksx dks 

lgk;rk 

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2 	 (b)	 dsoy 2 vkSj 3 
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 50-	fuEufyf•r dFkuksa ij fopkj dhft;s&
	 1-	 dPps eky dh miyCèkrk 
	 2-	 vkS"kèk m|ksxksa ds fy;s jkT;ksa dh uhfr;k¡ 
	 3-	 Hkwfe vkSj tyok;q dh mi;qDrrk 
	 4-	 canjxkgksa ls fudVrk

	 	mi;qZDr esa ls dkSu&lk@ls iQkekZL;wfVdy m|ksx eq[; :i 
ls Hkkjr ds if'peh rV ij vofLFkr gksus ds dkj.k@dkj.kksa 
esa 'kkfey gS@gSa\

	 (a)	 dsoy 1] 2 vkSj 3 	 (b)	 dsoy 2, 3 vkSj 4 
	 (c)	 dsoy 1 vkSj 4 	 (d)	 1, 2, 3 vkSj 4

	 51-	Hkkjr ds vkS"kèk m|ksx ds lanHkZ esa] fuEufyf•r esa ls 
dkSu&lk@ls dFku lgh gS@gSa\

	 1-	 Hkkjr oSf'od Lrj ij tsusfjd nokvksa dk lcls cM+k 
çnkrk gSA 

	 47.	 According to the Economic Survey 2021-22, social 
services include:

	 1.	 Art and Culture
	 2.	 Urban Development
	 3.	 Development of heavy industries
	 4.	 Relief work during natural calamity
	 5.	 Game

		  Select the correct answer using the code given below.
	 (a)	 1, 2, 4 and 5 only	 (b)	 2, 3 and 5 only
	 (c)	 1, 3 and 4 only	 (d)	 1, 2, 3, 4 and 5
	 48.	 With reference to the Integrated Plant Nutrition 

Management Bill, 2022, consider the following 
statements:

	 1.	 Under this, a provision has been made for 
the formation of Integrated Plant Nutrition 
Management Authority of India.

	 2.	 Its objective is to promote the development and 
sustainable use of fertilizers.

	 3.	 Any person can manufacture, sell, import for 
sale without registering.

		  Which of the above statements is/are not correct?
	 (a)	 1 only 	 (b)	 1 and 2
	 (c)	 3 only	 (d)	 2 and 3
	 49.	 With reference to the plan for ‘Strengthening of 

Pharmaceutical Industry (SPI)’, which of the 
following components are included?

	 1.	 Pharmaceutical Technology Upgradation 
Assistance Scheme

	 2.	 Pharmaceutical and Medical Device Promotion 
and Development Scheme

	 3.	 Assistance to the pharmaceutical industry for 
common facilities

		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 50.	 Consider the following statements–
	 1.	 Availability of Raw Materials
	 2.	 State Policies for Pharmaceutical Industries
	 3.	 Suitability of Land and Climate
	 4.	 Proximity to ports

		  Which of the above factors is/are involved in the 
location of the pharmaceutical industry mainly on the 
western coast of India?

	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1 and 4 only	 (d)	 1, 2, 3 and 4

	 51.	 With reference to the pharmaceutical industry of 
India, which of the following statement(s) is/are 
correct?

	 1.	 India is the largest provider of generic 
medicines globally.
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	 2-	 fo'o Lrj ij] Hkkjr nok mRiknu ds ekeys esa ek=kk 
ds fglkc ls ikaposa LFkku ij gSA 

	 3-	 Hkkjr nqfu;k esa fpfdRlk ls lacafèkr oLrqvksa dk 
14ok¡ lcls cM+k fu;kZrd gSA

	 	uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA
	 (a)	 1 vkSj 2 	 (b)	 dsoy 1 
	 (c)	 dsoy 3 	 (d)	 1 vkSj 3 

	 52-	^vkS"kèk m|ksx dks etcwr djus (strengthening of 
pharmaceutical Industry-SPI)* dh ;kstuk] fuEufyf•r 
esa ls fdl ea=kky; ds varxZr vkrh gS\

	 (a)	 dsaæh; jlk;u vkSj moZjd ea=kky;
	 (b)	 dsaæh; LokLF; ,oa ifjokj dY;k.k ea=kky;
	 (c)	 dsaæh; •k| izlaLdj.k m|ksx ea=kky;
	 (d)	 dsaæh; foKku ,oa çkS|ksfxdh ea=kky;

	 53-	fdlku mRiknd laxBuksa (FPOs) ds lanHkZ esa] fuEufyf•r 
esa ls dkSu&lk dFku lgh gS\

 	 (a)	 2018 esa ^fdlku mRiknd laxBuksa (FPOs) dk 
xBu vkSj c<+kok* uked ;kstuk 'kq: dh xbZA 

	 (b)	 bls daiuh vfèkfu;e 2013 ds rgr fuxfer fd;k 
tkrk gSA

	 (c)	 blds rgr 2027-28 rd yxHkx chl gtkj u, 
fdlku mRiknd laxBu (FPOs) xfBr fd;s tk;saxsA 

	 (d)	 mi;qZDr esa ls dksbZ ughaA 

	 54-	jk"Vªh; Hkwfe eqæhdj.k fuxe (National Land Monetization 
corporation- NLMC) fuEufyf•r esa ls fdl ea=kky; 
varxZr LFkkfir dh tk,xh\

	 (a)	 dsaæh; okf.kT; ,oa m|ksx ea=kky;
	 (b)	 Ñf"k ,oa fdlku dY;k.k ea=kky;
	 (c)	 foÙk ea=kky;
	 (d)	 xzkeh.k fodkl ea=kky;

	 55-	gky gh esa Hkkjr us 400 vjc MkWyj ds oLrq fu;kZr ds 
y{; dks le; ls igys çkIr fd;k gSA blds fy;s mÙkjnk;h 
dkjdksa esa dkSu&ls 'kkfey gSa\

	 1-	 fodflr vFkZO;oLFkk }kjk ^foLrkjoknh ekSfæd 
uhfr* dks viukuk 

	 2-	 u, vkSj laHkkfor fu;kZrdksa ds fy;s fu;kZr caèkq 
;kstuk 'kq: djukA 

	 3-	 fu;kZr mRiknksa ij 'kqYd vkSj dj NwV ;kstukA 
	 4-	 Hkkjr ds fu;kZr] i;ZVu vkfn ds çksRlkgu ds fy;s 

fons'kksa esa fLFkr Hkkjrh; fe'kuksa esa o`f¼A 
	 5-	 fu;kZr dks çksRlkgu ds fy;s cktkj igq¡p igy 

;kstukA 
	 6-	 Ñf"k fu;kZr uhfrA 

	 	uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA
	 (a)	 dsoy 1, 2, 3 vkSj 6
	 (b)	 dsoy 3, 4, 5 vkSj 6
	 (c)	 dsoy 1, 2, 3, 4 vkSj 5  
	 (d)	 1, 2, 3, 4, 5 vkSj 6

	 2.	 Globally, India ranks fifth in terms of medicine 
production by volume.

	 3.	 India is the 14th largest exporter of medical 
related goods in the world.

		  Select the correct answer using the code given below.
	 (a)	 1 and 2	 (b)	 1 only 
	 (c)	 3 only 	 (d)	 1 and 3

	 52.	 The scheme of 'Strengthening of pharmaceutical 
industry (SPI)' comes under which of the following 
ministry?

	 (a)	 Union Ministry of Chemicals and Fertilizers
	 (b)	 Union Ministry of Health and Family Welfare
	 (c)	 Union Ministry of Food Processing Industries
	 (d)	 Union Ministry of Science and Technology

	 53.	 With reference to Farmer Producer Organizations 
(FPOs), which of the following statements is correct?

 	 (a)	 In 2018, a scheme named ‘Formation and 
Promotion of Farmer Producer Organizations 
(FPOs)’ was launched.

	 (b)	 It is incorporated under the Companies Act 
2013.

	 (c)	 Under this, about twenty thousand new Farmer 
Producer Organizations (FPOs) will be formed 
by 2027-28.

	 (d)	 None of the above.

	 54.	 National Land Monetization Corporation (NLMC) 
will be set up under which of the following ministry?

	 (a)	 Ministry of Commerce and Industry
	 (b)	 Ministry of Agriculture and Farmers Welfare
	 (c)	 Ministry of Finance
	 (d)	 Ministry of Rural Development

	 55.	 Recently, India has achieved the target of exporting 
goods of 400 billion dollars before time. What are 
the factors responsible for this?

	 1.	 Adoption of 'expansionary monetary policy' by 
the developed economy.

	 2.	 Launch of Export Bandhu Scheme for new and 
potential exporters.

	 3.	 Duty and tax exemption scheme on export 
products.

	 4.	 Increase in Indian Missions abroad for 
promotion of India's exports, tourism etc.

	 5.	 Market Access Initiative Scheme for Promotion 
of Exports.

	 6.	 Agricultural Export Policy.

		  Select the correct answer using the code given below.
	 (a)	 1, 2, 3 and 6 only
	 (b)	 3, 4, 5 and 6 only
	 (c)	 1, 2, 3, 4 and 5 only
	 (d)	 1, 2, 3, 4, 5 and 6
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	 56-	'kCn ^dks&yksds'ku* fdlls lacafèkr gS\
	 (a)	 ;g ,d lqfoèkk gS ftlds rgr czksdlZ vius loZj 

LVkWd ,Dlpsat loZj ds fudV LFkkfir djrs gS 
ftlls MsVk Vªkalfe'ku esa de le; yxus ds dkj.k 
,d czksdj dks nwljs ij ykHk çkIr djus esa enn 
feyrh gSA

	 (b)	 ;g ,d vkHkklh nqfu;k dk ,d usVodZ gS tks 
lks'ky dusD'ku ij vkèkkfjr gSA 

	 (c)	 ;g yksds'ku lk>k djus dh ,d ubZ ;qfDr gSA 
ftlls yksx ,d nwljs ij utj j• ldsaA 

	 (d)	 yksds'ku xzqi cukuk ftlls vkids foKkiuksa esa 
vkl&ikl ds O;kolkf;d LFkkuksa dk çpkj djuk 
vklku curk gSA 

	 57-	daVsaV fMyhojh usVodZ (CDN) ds lanHkZ esa] fuEufyf•r 
dFkuksa ij fopkj dhft;s&

	 1-	 daVsaV fMyhojh usVodZ loZjksa ds HkkSxksfyd :i ls 
forfjr lewg dks lanfHkZr djrk gS tks baVjusV lkexzh 
dks rsth ls forj.k çnku djus ds fy;s feydj 
dk;Z djrk gSA 

	 2-	 daVsaV fMyhojh usVodZ çcaèku lkWÝVos;j vYxksfjne 
ds vkèkkj ij x.kuk djrk gS fd dkSu&lk loZj 
daVsaV dh ekax djus okys mi;ksxdrkZ ds utnhd gSA 

	 3-	 gky gh esa daVsaV fMyhojh usVodZ ds fofu;eu dks 
ysdj VªkbZ (TRAI) vkSj nwjlapkj daifu;ksa ds eè; 
fookn mRiUu gks x;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 1 vkSj 2 
	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3 

	 58-	jk"Vªh; Hkwfe eqæhdj.k fuxe (NLMC) ds dk;ks± ds lanHkZ 
esa] fuEufyf•r dFkuksa ij fopkj dhft;s&

	 1-	 ;g dsaæh; lkoZtfud {ks=k ds m|eksa (CPSEs) vkSj 
vU; ljdkjh ,tsafl;ksa dh vfèk'ks"k Hkwfe vkSj Hkou 
laifÙk dk eqæhdj.k djsxkA

	 2-	 ;s ifjlaifÙk eqæhdj.k dk;ZØeksa ds dk;kZUo;u esa 
ljdkj dks lgk;rk vkSj rduhdh lykg çnku 
djsxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \
	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	 59-	esVkolZ ds lanHkZ esa] fuEufyf•r dFkuksa ij fopkj dhft;s&
	 1-	 esVkolZ 3D vkHkklh nqfu;k dk ,d usVodZ gS] 

tks lkekftd dusD'ku ij dsafær gS] vkSj bls ,d 
flE;qysVsM fMftVy okrkoj.k ds :i esa ifjHkkf"kr 
fd;k tk ldrk gSA

	 2-	 esVkolZ vkWxesaVsM fj;fyVh] opZqvy fj;fyVh] e'khu 
yfuZax] CykWdpsu VsDuksykWth vkSj vkfVZfiQf'k;y 
baVsyhtsal tSlh dbZ VsDuksykWth ds dkWfEcus'ku ij 
dke djrk gSA

	 56.	 What is the term 'co-location' related to?
	 (a)	 It is a facility whereby the brokers set up their 

servers near the stock exchange servers which 
helps the broker to get an advantage over the 
other due to the less time taken in the data 
transmission.

	 (b)	 It is a network of a virtual world which is based 
on social connections.

	 (c)	 This is a location sharing device. So that people 
can keep an eye on each other.

	 (d)	 Creating a location group that makes it easy to 
promote nearby business locations in your ads.

	 57.	 With reference to Content Delivery Network (CDN), 
consider the following statements:

	 1.	 Content Delivery Network refers to a 
geographically distributed group of servers 
that work together to provide rapid delivery of 
Internet content.

	 2.	 Content delivery network management 
software algorithmically calculates which 
server is closest to the user seeking content.

	 3.	 Recently, there has been a dispute between 
TRAI and telecom companies regarding the 
regulation of content delivery network.

		  Which of the above statements is/are correct?
	 (a)	 1 only 	 (b)	 1 and 2
	 (c)	 3 only 	 (d)	 1, 2 and 3

	 58.	 With reference to the functions of the National Land 
Monetization Corporation (NLMC), consider the 
following statements-

	 1.	 It will monetise surplus land and building 
assets of Central Public Sector Enterprises 
(CPSEs) and other government agencies.

	 2.	 It will provide assistance and technical advice 
to the government in the implementation of 
asset monetization programmes.

		  Which of the above statements is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 59.	 With reference to the metaverse, consider the 
following statements–

	 1.	 The metaverse is a network of 3D virtual 
world, focused on social connections, and can 
be defined as a simulated digital environment.

	 2.	 Metaverse works on the combination of 
many technologies like Augmented Reality, 
Virtual Reality, Machine Learning, Blockchain 
Technology and Artificial Intelligence.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa  	 (d)	 u rks 1 vkSj u gh 2 

	 60-	gky gh esa vkjchvkbZ us lHkh xSj&cSafdax foÙkh; daifu;ksa 
(NBFC) dks fdl le; rd ^dksj iQkbusaf'k;y lfoZlst 
lkWY;w'ku* (CFSS) dks ykxw  djus dk funZs'k fn;k gS\

	 (a)	 30 flracj] 2022 	 (b)	 30 flracj] 2023 
	 (c)	 30 flracj] 2026 	 (d)	 30 flracj] 2025

	 61-	Hkkjr esa ekbØksiQkbusal laLFkkuksa }kjk mi;ksx dh tkus okyh 
lk• fMyhojh i¼fr lanHkZ esa] fuEufyf•r esa ls dkSu&ls 
'kkfey gSa\

	 1-	 xzkeh.k ekWMy cSad
	 2-	 Lo;a lgk;rk lewg (SHGs)
	 3-	 ekbØksiQkbusal baLVhVÔw'ku (MFIs)
	 4-	 cSad Hkkxhnkjh ekWMy
	 5-	 cSafdax laoknnkrk 

	 	uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA
	 (a)	 dsoy 1, 2, 4 vkSj 5 	 (b)	 dsoy 2, 3 vkSj 4 
	 (c)	 dsoy 1, 3 vkSj 5 	 (d)	 1, 2, 3, 4 vkSj 5 

	 62-	gky gh esa •cjksa esa jgk dqufeax fMDysjs'ku fuEufyf•r 
esa ls fdl {ks=k ls lacafèkr gS\

	 (a)	 tSo fofoèkrk	 (b)	 tyok;q ifjorZu
	 (c)	 dksfoM&19	 (d)	 tSfod gfFk;kj

	 63-	fo'o ty fodkl fjiksVZ fdlds }kjk çdkf'kr dh tkrh gS\
	 (a)	 fo'o vkfFkZd iQksje
	 (b)	 ;wusLdks 
	 (c)	 fo'o cSad 
	 (d)	 uhfr vk;ksx

	 64-	rkih&ikj&ueZnk fyad ifj;kstuk ds lanHkZ esa fopkj dhft;s%
	 1-	 bl ifj;kstuk esa xqtjkr vkSj egkjk"Vª jkT; 'kkfey gSaA
	 2-	 bl fyad ifj;kstuk esa mÙkjh egkjk"Vª vkSj nf{k.kh 

xqtjkr esa çLrkfor lkr tyk'k; 'kkfey gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 65-	fuEufyf•r ;qXeksa ds lanHkZ esa fopkj dhft;s
	 	 unh		 mn~xe LFky
	 1.	 ueZnk	 	eSdky Js.kh
	 2.	 ikj	 	ukfld
	 3.	 rkIrh	 	lriqM+k ioZr

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh gS@gSa
	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 1, 2, 3 

	 66-	•kjsikuh ds exjePN ds lanHkZ esa fopkj dhft;s%
	 1-	 ;s lqanjcu] fHkrjdfudk jk"Vªh; m|ku vkSj vaMeku 

,oa fudksckj }hi lewg esa ik;k tkrk gSA 

		  Which of the above statements is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 60.	 Recently RBI has directed all Non-Banking Financial 

Companies (NBFCs) to implement 'Core Financial 
Services Solution' (CFSS) by what time?

	 (a)	 30 September, 2022
	 (b)	 30 September, 2023
	 (c)	 30 September, 2026
	 (d)	 30 September, 2025
	 61.	 With reference to the credit delivery method used by 

microfinance institutions in India, which of the 
following are included?

	 1.	 Gramin Model Bank
	 2.	 Self Help Groups (SHGs)
	 3.	 Microfinance Institutions (MFIs)
	 4.	 Bank partnership model
	 5.	 Banking correspondent

		  Select the correct answer using the code given below.
	 (a)	 1, 2, 4 and 5 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 3 and 5 only	 (d)	 1, 2, 3, 4 and 5
	 62.	 The Kunming Declaration, which was in news 

recently, is related to which of the following fields?
	 (a)	 Biodiversity	 (b)	 Climate change
	 (c)	 COVID-19	 (d)	 Biological weapon

	 63.	 Who releases the World Water Development Report?
	 (a)	 World Economic Forum
	 (b)	 UNESCO
	 (c)	 World Bank
	 (d)	 NITI Aayog

	 64.	 Consider in the context of the Tapi-Par-Narmada Link 
Project.

	 1.	 The states of Gujarat and Maharashtra are 
involved in this project.

	 2.	 The link project comprises seven proposed 
reservoirs in northern Maharashtra and 
southern Gujarat.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	  65.	 Consider the following pairs
          		  River		  Origin
	 1.	 Narmada                		  Maikal Range
	 2.	 Par                   		  Nashik
	 3.	 Tapti                     		  Satpura mountain

		  Which of the above pairs is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 1, 2, 3

	 66.	 Consider with reference to the Saltwater Crocodile 
	 1.	 It is found in Sundarbans, Bhitarkanika 

National Park and Andaman and Nicobar 
Islands.
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	 2-	 bls ,'pqfju ØksdksMkby Hkh dgk tkrk gSA
	 3-	 IUCN çtkfr;ksa dh lwph esa yqIrçk; ?kksf"kr fd;k 

x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh ugha gS@gSaA
	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 3	 (d)	 1, 2, 3

	 67-	Hkkjr& ckaXykns'k çksVksdkWy ekxZ ds lanHkZ esa fopkj dhft;s %
	 1-	 blds rgr jk"Vªh; tyekxZ&1 vkSj jk"Vªh; tyekxZ&2 

dks tksM+k x;k gSA
	 2-	 ;g varnZs'kh; ty ikjxeu vkSj O;kikj ds lcaèk esa 

le>kSrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 68-	pkj fpukj }hi dk laca/ gS&
	 (a)	 mÙkjk•aM
	 (b)	 tEew ,oa d'ehj 
	 (c)	 fgekpy çns'k
	 (d)	 flfDde

	 69-	egkRek xkaèkh xzhu Vªk,axy dk lacaèk gS%
	 (a)	 esMkxkLdj	 (b)	 lsafVuy }hi
	 (c)	 ekWfj'kl	 (d)	 gokbZ }hi

	 70-	,f'k;kbZ 'ksj ds lanHkZ esa fopkj dhft;s%
	 1-	 bls IUCN dh jsM fyLV esa yqIrçk; ?kksf"kr fd;k 

x;k gSA
	 2-	 Hkkjr esa fxj jk"Vªh; m|ku ,oa oU; tho vH;kj.; 

blds ,dek=k fuokl LFky gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 71-	jT”kk”kk >hy dk lacaèk gS%
	 (a)	 bjkd	 (b)	 dqoSr
	 (c)	 bZjku	 (d)	 lÅnh vjc

	 72-	jksxk.kqjksèkh ,tsaV~l tfur çnw"k.k ds lanHkZ esa fopkj dhft;s%
	 1-	 jksxk.kqjksèkh ,tsaV~l tfur çnw"k.k i;kZoj.k dh 

ekbØksfc;y ljapuk dks ckfèkr djrk gSA 
	 2-	 ;s i'kq mRiknu m|ksx ds fy;s ykHknk;d gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSaA
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 73-	IPCC dh vkdyu fjiksVZ ds lanHkZ esa fopkj dht;s 
	 1.	 gky gh esa blus viuh NBh vkdyu fjiksVZ dk 

nwljk Hkkx tkjh fd;k gSA 
	 2.	 ;g fjiksVZ çR;sd lkr o"kZ esa tkjh dh tkrh gSA
	 3.	 igyh ckj vkdyu fjiksVZ o"kZ 1990 esa vkbZ FkhA

	 2.	 It is also called Eschurine Crocodile.
	 3.	 The species has been declared endangered on 

the IUCN list.

		  Which of the above statements is/are not correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2, 3

	 67.	 Consider with reference to the India-Bangladesh 
Protocol Route:

	 1.	 Under this, National Waterway-1 and National 
Waterway-2 have been connected.

	 2.	 It is an agreement on inland water transit and 
trade.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 68.	 Char Chinar Island belongs to–
	 (a)	 Uttarakhand
	 (b)	 Jammu and Kashmir
	 (c)	 Himachal Pradesh
	 (d)	 Sikkim

	 69.	 Mahatma Gandhi Green Triangle is related to:
	 (a)	 Madagascar	 (b)	 Sentinel Island
	 (c)	 Mauritius	 (d)	 Hawai Island

	  70.	 Consider with reference to Asiatic Lion
	 1.	 It has been declared endangered on the IUCN 

Red List.
	 2.	 Gir National Park and Wildlife Sanctuary is the 

only habitat in India.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	  71.	 Razzaza lake is related to
	 (a)	 Iraq 	 (b)	 Kuwait
	 (c)	 Iran	 (d)	 Saudi Arab

	 72.	 Consider with reference to the pollution caused by 
antimicrobial agents:

	 1.	 Pollution caused by antimicrobial agents 
disrupts the microbial composition of the 
environment.

	 2.	 It is beneficial for the animal production 
industry.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	  73.	 Consider with reference to IPCC's assessment report
	 1.	 Recently, it has released the second part of its 

Sixth Assessment Report.
	 2.	 It releases every seven years.
	 3.	 The first assessment report came in the year 

1990.
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	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 3	 (d)	 1, 2, 3

	 74-	gky gh esa LVsV vkWiQ bafM;kt ,Uok;juesaV fjiksVZ fdlds 
}kjk tkjh fd;k x;k gS%

	 (a)	 uhfr vk;ksx
	 (b)	 lsaVj iQkWj lkbal ,aM ,Uok;juesaV
	 (c)	 Hkkjr ou loZs{k.k 
	 (d)	 mi;ZqDr dksbZ ugha 

	 75-	UNEP ds lanHkZ esa fopkj dhft;s%
	 1-	 ;g ,d çeq• oSf'od i;kZoj.k çkfèkdj.k gSA
	 2-	 bldk fo'o i;kZoj.k fnol ,d vfHk;ku gSA 
	 3-	 ;g çR;sd o"kZ mRltZu xSi fjiksVZ tkjh djrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 3	 (d)	 1, 2, 3

	 76-	djsok ds lanHkZ esa fopkj dhft;s%
	 1-	 djsok d'ehj ?kkVh ,oa tEew fMohtu dh Hknjokg 

?kkVh esa foLr`r >hy fu{ksi gSA
	 2-	 djsok fu{ksi dslj] cknke vkSj lsc dh •srh ds 

fy;s ykHknk;d gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 77-	xzsVj ekynho fjt ds lanHkZ esa fopkj dhft;s%
	 1-	 ;g Hkwdaih; xfrfofèk;ksa ls lacafèkr ugh gSA
	 2-	 ;g if'pe ç'kkar egklkxj esa fLFkr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 78-	foorZfud IysVks ds lanHkZ esa fopkj dhft;s%
	 1-	 fyFkksLiQh;j esa ØLV vkSj Åijh esaVy nksuksa 'kkfey 

gksrs gSaA
	 2-	 foorZfud IysV dsoy egk}hih; IysV gks ldrh gSA 
	 3-	 foorZfud IysV fLFkj gksrh gSA  

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 3	 (d)	 1, 2, 3

	 79-	Hkk•M+k C;kl çcaèku cksMZ ds lanHkZ esa fopkj dhft;s%
	 1-	 ;g Hkkjr vkSj ikfdLrku ds chp ckaèkksa ds j•j•ko 

ds fy;s ,d le>kSrk gSA 
	 2-	 ;g Hkk•M+k ukaxy ifj;kstuk dk çcaèku djrk gSA 
	 3-	 blesa ,d vè;{k vkSj nks iw.kZdkfyd lnL; 'kkfey gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSaA
	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2, 3

		  Which of the above statements is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2, 3

	 74.	 Recently State of India's Environment Report has 
been released by?

	 (a)	 NITI Aayog
	 (b)	 Center for Science and Environment
	 (c)	 India Forest Survey
	 (d)	 None of the above

	  75.	 Consider with reference to UNEP:
	 1.	 It is a leading global environmental authority.
	 2.	 Its World Environment Day is a campaign.
	 3.	 Releases the Emissions Gap Report every year.

		  Which of the above statements is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2, 3

	 76.	 Consider with reference to Kareva:
	 1.	 Kareva is a wide lake deposit in Kashmir valley 

and Jammu division of Bhadarwah valley. 
	 2.	 Kareva deposit is beneficial for the cultivation 

of Saffron, Badam and Apple.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 77.	 Consider with reference to Greater Maldives Ridge:
	 1.	 It is not related to seismic activities.
	 2.	 It is located in the western Pacific Ocean.

		  Which of the above statements is/are not correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	  78.	 Consider with reference to tectonic plates:
	 1.	 The lithosphere includes both the crust and the 

upper mantle.
	 2.	 A tectonic plate can only be a continental plate.
	 3.	 The tectonic plate is stationary.

		  Which of the above statements is/are not correct?
	 (a)	 2 and 3 only	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 1, 2, 3

	 79.	 Consider with reference to Bhakra Beas Management 
Board:

	 1.	 It is an agreement between India and Pakistan 
for the maintenance of dams.

	 2.	 It manages the Bhakra Nangal project.
	 3.	 It consists of a chairman and two full-time 

members.

		  Which of the above statements is/are correct?
	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2, 3
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	 80-	¯lèkq unh ds lanHkZ esa fopkj dhft;s%
	 1-	 bldh rhu i'peh lgk;d ufn;ksa& jkoh] C;kl vkSj 

lryqt dk ty Hkkjr mi;ksx djrk gSA
	 2-	 ikfdLrku fpukc] >sye vkSj jkoh unh ds ty dk 

mi;ksx djrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 81-	ck¡èk iquokZl vkSj lqèkkj ifj;kstuk ds lcaèk esa fopkj 
dhft;s 

	 1-	 blds pj.k II vkSj pj.k III dh 'kq#vkr vDrwcj 
2021 dks gqbZA 

	 2-	 nwljs pj.k dks fo'o cSad vkSj ,f'k;kbZ volajpuk 
fuos'k cSad }kjk foÙkiksf"kr fd;k tk jgk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 82-	fuEufyf•r dFkuksa ds lanHkZ esa fopkj dhft;s%
	 1-	 ef.kiqj] jktLFkku] mÙkjk•aM vkSj HkwriwoZ tEew ,oa 

d'ehj jkT;ksa esa us'kuy ÝyM Iysu tksfuax ikfylh 
ykxw dh xbZ gSA

	 2-	 ÝyM Iysu tksfuax dks ck<+ çcaèku ds fy;s çHkkoh 
xSj&lajpukRed mik; ds :i esa ekU;rk nh xbZa gSA 

	 	mi;ZqDr dFkuksa esa us'kuy ÝyM Iysu tksfuax ikfylh ds 
lacaèk esa dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 83.	lrr~ fodkl y{;ksa ds lanHkZ esa fopkj dhft;s%
	 1-	 o"kZ 2021 esa Hkkjr 192 ns'kksa esa 117osa LFkku ij FkkA
	 2-	 lrr~ fodkl y{;ksa dh çkfIr ds fy;s >kj•aM vkSj 

fcgkj ihNs gSaA
	 3-	 la;qDr jk"Vª ds lHkh lnL; ns'kksa us o"kZ 2015 lrr~ 

fodkl ds fy;s 2030 ,tsaMk viuk;kA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2, 3

	 84-	jftLVªkj tujy vkWiQ bafM;k ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g dsaæh; foÙk ea=kky; ds vèkhu dk;Zjr gSA
	 2-	 ;g uewuk iathdj.k ç.kkyh dk mi;ksx djds çtuu 

o e`R;q nj ds lacaèk esa vuqeku çLrqr djrk gSA
	 3-	 ;g tula[;k dh x.kuk rFkk ns'k esa e`R;q ,oa tUe 

ds iathdj.k dks fØ;kfUor djrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3 
	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3

	 80.	 Consider with reference to Indus river:
	 1.	 India uses the waters of its three western 

tributaries – Ravi, Beas and Sutlej.
	 2.	 Pakistan uses the waters of Chenab, Jhelum 

and Ravi rivers.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 81.	 Consider the dam rehabilitation and improvement 
project:

	 1.	 Its Phase II and Phase III started on October 
2021.

	 2.	 The second phase is being financed by the 
World Bank and the Asian Infrastructure 
Investment Bank.

		  Which of the above statements is/are not correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 82.	 Consider with reference to the following statements:
	 1.	 The National Flood Plain Zoning Policy has 

been implemented in the states of Manipur, 
Rajasthan, Uttarakhand and erstwhile Jammu 
and Kashmir.

	 2.	 Flood plain zoning has been recognized as 
an effective non-structural measure for flood 
management.

		  Which of the above statements is/are correct 
regarding the National Flood Plain Zoning Policy?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	  83.	 Consider with reference to the Sustainable 
Development Goals:

	 1.	 In the year 2021, India was ranked 117 out of 
192 countries.

	 2.	 Jharkhand and Bihar lag behind in achieving 
the Sustainable Development Goals.

	 3.	 In 2015, all member states of the United Nations 
adopted the 2030 agenda for sustainable 
development.

		  Which of the above statements is/are correct?
	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2, 3

	 84.	 With reference to the Registrar General of India, 
consider the following statements.

	 1.	 It is functioning under the Union Ministry of 
Finance.

	 2.	 It provides estimates of fertility and mortality 
rates using a sample registration system.

	 3.	 It carries out the census of population and 
registration of deaths and births in the country.

		  Which of the above statements is/are correct.
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
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	 85-	ekr` e`R;q nj ds lanHkZ esa fuEufyf•r dFkuksa esa ls dkSu 
lk lgh ugha gSA

	 (a)	 ekr` e`R;q nj dks ,d fuf'pr le;kofèk ds nkSjku 
gq, çfr 100]000 thfor tUeksa ds lkis{k mlh 
le;kofèk esa ekr` e`R;q dh la[;k ds :i esa 
ifjHkkf"kr fd;k tkrk gSA

	 (b)	 ;g thfor tUeksa dh la[;k ds lkis{k ekr` e`R;q ds 
tksf•e dks n'kkZrk gSA

	 (c)	 ;g fdlh {ks=k esa efgykvksa ds LokLF; dh ,d 
eki gSA

	 (d)	 uewuk iathdj.k ç.kkyh }kjk Hkkjr esa ekr` e`R;q nj 
(2017-19) ij uohure cqysfVu ds vuqlkj ekr` ,oa 
f'k'kq LokLF; ds {ks=k esa dukZVd 'kh"kZ ij gSA

	 86-	^isa'ku nku djsa ;kstuk* ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 bl ;kstuk dh 'kq#vkr dsaæh; okf.kT; ,oa m|ksx 
ea=kky; us fd;kA

	 2-	 ;g ;kstuk çèkkuea=kh Je ;ksxh eku&èku (PM-
SYM) isa'ku ;kstuk ds rgr ,d igy gSA

	 3-	 ;kstuk ds varxZr mez ds vkèkkj ij Jfed 55 #i;s 
çfrekg ls ysdj 200 #i;s çfrekg ds chp va'knku 
dj ldrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3

	 87-	gky gh esa fuEufyf•r esa ls fdl jkT; ljdkj }kjk 
^cfguh ;kstuk* dh 'kq#vkr dh x;h\

	 (a)	 mÙkj çns'k 	 (b)	 flfDde 
	 (c)	 jktLFkku	 (d)	 vksfM'kk

	 88-	^dU;k f'k{kk ços'k mRlo* ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 Hkkjr ljdkj }kjk varjkZ"Vªh; efgyk fnol ds 
volj ij dU;k f'k{kk ços'k mRlo uked ,d 
jk"VªO;kih vfHk;ku dh 'kq#vkr dh xbZA

	 2-	 vfHk;ku dk mís'; 11-14 o"kZ vk;q oxZ dh Ldwy u 
tkus okyh fd'kksfj;ksa dks f'k{kk ç.kkyh ls tksM+uk gSA

	 3-	 bl vfHk;ku dks efgyk ,oa cky fodkl ea=kky; 
}kjk f'k{kk ea=kky; ds leUo; ls fØ;kfUor fd;k 
tk jgk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3

	 89-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 	dFku 1% Hkkjrh; yksdlHkk pquko 2019 esa efgykvksa dh 
thr ;ksX;rk (ftl vkèkkj ij jktuhfrd ny fVdV nsus 
dk nkok djrs gSa) iq#"kksa dh rqyuk esa dgha vfèkd gSA

	 85.	 With reference to maternal mortality rate, which of 
the following statements is not correct.

	 (a)	 Maternal mortality rate is defined as the 
number of maternal deaths per 100,000 live 
births during a given time period.

	 (b)	 It refers to the risk of maternal death relative to 
the number of live births.

	 (c)	 It is a measure of the health of women in an 
area.

	 (d)	 According to the latest Bulletin on Maternal 
Mortality Rate in India (2017-19) by Sample 
Registration System, Karnataka has topped in 
the field of maternal and child health.

	 86.	 With reference to the Donate Pension Scheme, 
consider the following statements.

	 1.	 The scheme was launched by the Union 
Ministry of Commerce and Industry.

	 2.	 This scheme is an initiative under the Pradhan 
Mantri Shram Yogi Maan-Dhan (PM-SYM) 
Pension Scheme.

	 3.	 Under the scheme, depending on the age, 
workers can contribute between Rs 55 per 
month to Rs 200 per month.

		  Which of the above statements is/are not correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 3 only

	 87.	 Recently which of the following state government 
has launched Bahini scheme?

	 (a)	 Uttar Pradesh	 (b)	 Sikkim
	 (c)	 Rajasthan	 (d)	 Odisha

	 88.	 With reference to Kanya Shiksha Pravesh Utsav, 
consider the following statements.

	 1.	 A nationwide campaign named Kanya Shiksha 
Pravesh Utsav was started by the Government 
of India on the occasion of International 
Women's Day.

	 2.	 The objective of the campaign is to bring out-
of-school girls in the age group of 11-14 years 
in the education system.

	 3.	 This campaign is being run by the Ministry of 
Women and Child Development in coordination 
with the Ministry of Education.

		  Which of the above statements is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 89.	 Consider the following statements:

		  Statement 1: The winning eligibility of women (the 
basis on which political parties claim tickets) in the 
Indian Lok Sabha elections 2019 is much higher than 
that of men.
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		 dFku 2% o"kZ 2019 ds yksdlHkk pqukoksa esa dqy mEehnokjksa 
esa efgykvksa dk fgLlk 9 çfr'kr jgk]tcfd orZeku Hkkjrh; 
yksdlHkk esa efgykvksa dk çfrfufèkRo 14-6 çfr'kr (78 
lkaln) gSa tks ,sfrgkfld :i ls mPp gSA  

	 	mi;ZqDr dFkuksa ds lanHkZ esa fuEufyf•r esa ls dkSu&lk 
fodYi lgh gS\ 

	 (a)	 dFku 1 vkSj dFku 2 nksuksa lgh gSa vkSj dFku 2]
dFku 1 dh lgh O;k[;k gS 

	 (b)	 dFku 1 vkSj dFku 2 nksuksa lgh gSa] fdUrq dFku 2] 
dFku 1 dh lgh O;k[;k ugha gS

	 (c)	 dFku 1 lgh gS] ¯drq dFku 2 lgh ugha gS 
	 (d)	 dFku 1 lgh ugha gS] ¯drq dFku 2 lgh gS 

	 90-	gky gh esa ppkZ esa jgs pdek vkSj gktksax leqnk; ds 
lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ewy :i ls rRdkyhu iwohZ ikfdLrku esa pVxk¡o 
fgy VªSDV~l (CHT) ds fuoklh pdek ckS¼ tcfd 
gktksax fgUnw gSaA

	 2-	 pdek&gktksax Hkkjr ds vle lfgr dbZ iwokZsÙkj 
jkT;ksa esa iQSys gq, gSaaA

	 3-	 v#.kkpy çns'k dh lHkh jktuhfrd ikfVZ;k¡ bUgsa 
ukxfjdrk fn;s tkus dh ek¡x dj jgh gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 3

	 91-	jk"Vªh; foKku laxzgky; ifj"kn~ (NCSM) ds lanHkZ esa 
fuEufyf•r dFkuksa esa ls dkSu lk lgh ugha gS\

 	 (a)	 Hkkjr ljdkj ds bysDVªkfud ,oa lwpuk çlkj.k 
ea=kky; ds rgr ,d Lok;Ùk laLFkku gSA

	 (b)	 bldk xBu 4 vçSy] 1978 dks fd;k x;k FkkA 
	 (c)	 orZeku esa ;g iwjs Hkkjr esa iQSys 25 foKku dsaæksa@

laxzgky;ksa dk lapkyu djrh gSA
	 (d)	 bldh LFkkiuk dk mís'; ns'k esa lHkh vukSipkfjd 

foKku lapkj xfrfofèk;ksa dk leUo; djuk gSA

	 92-	fuEufyf•r ;qXe ij fopkj dhft;s%
		  iqLrd		 ys•d
	 1-	 'kqYolq=k	 	ckSèkk;u
	 2-	 Nan&'kkL=k	 	 fiaxy
	 3-	 xf.kr lkj laxzg	 	vk;ZHkêð
	 4-	 fl¼kar f'kjksef.k	 	czãxqIr

	 	mi;ZqDr ;qXeksa esa ls dkSu&ls lqesfyr gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3 
	 (c)	 dsoy 2, 3 vkSj 4	 (d)	 dsoy 1, 3 vkSj 4 

	 93-	dfyax LFkkiR; dyk ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 eafnj LFkkiR; dh dfyax 'kSyh eksVs rkSj ij æfoM+ 
'kSyh ds varxZr vkrh gSA

		  Statement 2: The share of women in the total 
candidates in the 2019 Lok Sabha elections was 9 
percent, while the representation of women in the 
current Indian Lok Sabha is 14.6 percent (78 MPs), 
which is a historically high.

		  With reference to the above statements, which of the 
following is correct?

	 (a)	 Both statement 1 and statement 2 are correct 
and statement 2 is the correct explanation of 
statement 1

	 (b)	 Statement 1 and Statement 2 both are correct, 
but Statement 2 is not the correct explanation 
of Statement 1

	 (c)	 Statement 1 is correct, but statement 2 is not 
correct

	 (d)	 Statement 1 is not correct, but statement 2 is 
correct

	 90.	 With reference to the Chakma and Hajong 
communities that were in the news recently, consider 
the following statements:

	 1.	 Originally residents of Chittagong Hill Tracts 
(CHT) in erstwhile East Pakistan are Chakma 
Buddhists, while Hajongs are Hindu

	 2.	 The Chakma-Hajongs are spread over several 
northeastern states of India including Assam.

	 3.	 All the political parties of Arunachal Pradesh 
are demanding to be given citizenship to them.

		  Which of the above statements is/are not correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 1 and 3 only	 (d)	 3 only

	 91.	 With reference to the National Council of Science 
Museums (NCSM), which of the following statements 
is not correct?

 	 (a)	 It is an autonomous institute under the Ministry 
of Electronics and IT, Government of India.

	 (b)	 It was formed on April 4, 1978
	 (c)	 Presently it operates 25 Science Centres/

Museums spread all over India.
	 (d)	 The objective of its establishment is to 

coordinate all informal science communication 
activities in the country.

	 92.	 Consider the following pair:
		  Book	 Author
	 1.	 Sulvasutra	 Boudhayana
	 2.	 Chhand-Shastra	 Pingal
	 3.	 Ganitsarsangrah	 Aryabhatta
	 4.	 Siddhant Shiromani	 Brahmagupta

		  Which of the above pairs are correctly matched?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2, 3 and 4 only	 (d)	 1, 3 and 4 only

	 93.	 With reference to Kalinga architecture, consider the 
following statements:

	 1.	 Kalinga style of temple architecture largely 
comes under Dravidian style.
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	 2-	 dfyax okLrqdyk esa ewy :i ls ,d eafnj nks Hkkxksa 
(cqtZ ,oa egkd{k) esa fufeZr gksrk gSA cqtZ dks nsmy 
rFkk egkd{k dks txeksgu dgk tkrk gSA

	 3-	 nsmy dh nhokjksa dks HkO; :i ls LFkkiR; #ikaduksa 
,oa vkÑfr;ksa dh çpqjrk ds lkFk rjk'kk x;k gS] 
tcfd txeksgu dh nhokjsa lknxhiw.kZ gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 94-	vLed egktuin ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 vLed çkphu Hkkjr ds 16 egktuinksa esa ls ,d 
egktuin FkkA

	 2-	 bldh jktèkkuh dks fofHkUu :i ls iksVkyh ;k iksru 
dgk tkrk gS vkSj bls orZeku ds rsyaxkuk esa cksèku 
ds :i esa igpkuk tkrk gSA

	 3-	 ;g foaè;  Ük`a•yk ds nf{k.k esa ,dek=k egktuin 
Fkk rFkk nf{k.kkiFk esa vofLFkr FkkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\ 

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 95-	vaxfn;k ç.kkyh fuEufyf•r esa ls fdlls lacafèkr gS\

	 (a)	 tutkrh; O;oLFkk
	 (b)	 eè;dkyhu Hkw&jktLo i¼fr
	 (c)	 cSafdax
	 (d)	 oSfnd dkyhu fookg O;oLFkk

	 96-	gky gh esa fuEufyf•r esa ls fdl ,d dh •ksth x;h 
ubZ çtkfr dk ukedj.k  xqtjkrh lkfgR; ds vkfndfo 
(çFke dfo) ujlh esgrk ;k ujflag esgrk ds uke ij 
ujflagesgrkbZ (Narsinhmehtai) fd;s tkus dks ysdj fookn 
fNM+ x;k\

	 (a)	 fNidyh	 (b)	 edM+h 
	 (c)	 eNyh 	 (d)	 liZ 

	 97-	gky gh esa ppkZ esa jgs leFkZ jkenkl ;k lar jkenkl dh 
lkfgfR;d Ñfr;ksa esa fuEufyf•r esa ls dkSu&lh ugha gS\

	 (a)	 nklcksèk 	 (b)	 iapeku
	 (c)	 ekuliwtk	 (d)	 n'kexzUFk

	 98-	foyst fMiQsal xzqi ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s% 

	 1-	 dsaæh; x`g ea=kky; }kjk tEew&d'ehj esa bldh 
LFkkiuk dks eatwjh nh x;h gSA

	 2-	 blds iwoZ Hkh 1990 ds n'kd esa tEew&d'ehj esa 
bldh LFkkiuk dh x;h FkhA

	 3-	 blds lnL;ksa ds :i esa foyst fMiQsal xkM~lZ dh 
fu;qfDr dh tk;sxhA

	 2.	 In Kalinga architecture, basically a temple 
is built in two parts (Burj and Mahakaksha). 
Burj is called Deula and Mahakaksha is called 
Jagmohan.

	 3.	 Deula's walls are lavishly carved with an 
abundance of architectural motifs and figures, 
while Jagmohan's walls are simplistic

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 94.	 With reference to the Asmaka Mahajanapada, 
consider the following statements:

	 1.	 Asmaka was one of the 16 Mahajanapadas of 
ancient India.

	 2.	 Its capital is variously called Potali or Podana 
and is identified as Bodhan in present-day 
Telangana.

	 3.	 It was the only Mahajanapada located in the 
south of the Vindhya range and it was located 
in the Dakshinapatha

		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 95.	 Angadiya system is related to which of the following?
	 (a)	 Tribal settlement
	 (b)	 Medieval Land Revenue System
	 (c)	 Banking
	 (d)	 Vedic era marriage system

	 96.	 Recently, a controversy has erupted in Gujarati 
literature regarding naming a newly discovered 
species as Narsinhmehtai after Adikavi (the first poet) 
Narsi Mehta or Narsinh Mehta?

	 (a)	 Lizard	 (b)	 Spider
	 (c)	 Fish	 (d)	 Snake

	 97.	 Which one of the following is not in the literary works 
of Samarth Ramdas or Sant Ramdas, who have been 
in discussion recently?

	 (a)	 Dasbodh	 (b)	 Panchaman
	 (c)	 Manaspooja	 (d)	 Dashamgranth

	 98.	 With reference to Village Defense Group, consider 
the following statements:

	 1.	 Its establishment in Jammu and Kashmir has 
been approved by the Union Home Ministry.

	 2.	 Even before this, it was established in the 
1990s in Jammu and Kashmir.

	 3.	 Village Defense Guards will be appointed as its 
members.
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	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 3
	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2
	 (d)	 1, 2 vkSj 3 

	 99-	fuEufyf•r ;qXe ij fopkj dhft;s %
	 	 lSU; vH;kl	 'kkfey ns'k 
	 1-	 bZLVuZ fczt	 Hkkjr&Jhyadk 
	 2-	 èkeZ xkftZ;u	 Hkkjr&tkiku 
	 3-	 LyhusDl	 Hkkjr&vkseku 

	 	mi;ZqDr ;qXeksa esa ls dkSu lk@ls lgh lqesfyr gS@gSa\
	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3

	100-	jsfM;ks ÚhDosalh vkbMsafVfiQds'ku ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s% 

	 1-	 bldk dk;kZUo;u Hkkjrh; lsuk ds vk;qèk lsok 
funs'kky; }kjk E;wfu'ku vkWiQ bafM;k fyfeVsM] iq.ks 
ds lkFk fd;k tk jgk gSA

	 2-	 blds jhMj }kjk vojDr rjaxksa dk mRltZu dj 
flXuy dks lwpuk çnku dh tkrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

		  Which of the above statements is/are correct?
	 (a)	 1 and 3 only
	 (b)	 2 only
	 (c)	 1 and 2 only
	 (d)	 1, 2 and 3

	 99.	 Consider the following pair :
		  Military Exercises	 Involved Countries 
	 1.	 Eastern Bridge	 India - Sri Lanka
	 2.	 Dharma Guardian	 India - Japan
	 3.	 Sleenex	 India - Oman

		  Which of the above pairs is/are correctly matched?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	100.	 With reference to Radio Frequency Identification, 
consider the following statements:

	 1.	 It is being implemented by the Directorate 
of Ordnance Services of the Indian Army 
in association with the Munitions of India 
Limited, Pune.

	 2.	 Information is provided to the signal by its 
reader by emitting infrared waves.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2


